

THE  $\mathcal{L}$ -DUAL OF  
A GENERALIZED MATSUMOTO SPACE

Gauree Shanker<sup>1</sup> §, Ravindra Yadav<sup>2</sup>

<sup>1,2</sup>Department of Mathematics and Statistics

Banasthali University

Banasthali, Rajasthan, 304022, INDIA

**Abstract:** One of the most well studied Finsler metrics are the  $(\alpha, \beta)$ -metrics. Among them, Randers, Kropina and Matsumoto metrics are well known brand names in modern Finsler geometry. Recently a lot of work has been done on the generalized m- Kropina and generalized Matsumoto metrics.

In [4, 5, 7] the  $\mathcal{L}$ -dual of Randers, Kropina and Matsumoto space were introduced. Recently, in [13], the  $\mathcal{L}$ -dual of a generalized m-Kropina space has been introduced. In this paper we study the  $\mathcal{L}$ -dual of a generalized Matsumoto space.

**AMS Subject Classification:** 53B40, 53C60

**Key Words:** Finsler space, Cartan space, generalized Matsumoto space, the duality between Finsler and Cartan spaces, Legendre transformation

## 1. Introduction

The concept of  $\mathcal{L}$ -duality between Finsler and Cartan spaces was introduced by R. Miron [9] and was intensively studied by others [5, 6, 12]. One of the remarkable results obtained are the concrete  $\mathcal{L}$ -duals of Randers, Kropina and Matsumoto metrics [4, 5, 7]. However, the importance of  $\mathcal{L}$ -duality is by for limited to computing the dual of some Finsler fundamental functions.

---

Received: January 1, 2012

© 2012 Academic Publications, Ltd.  
url: [www.acadpubl.eu](http://www.acadpubl.eu)

§Correspondence author

In [3], the complicated problem of classifying Randers metrics of constant flag curvature was solved by the means of duality. Other geometrical problems of  $(\alpha, \beta)$ -metrics might be solved in future by considering not the metric itself, but its dual.

Recently, the  $\mathcal{L}$ -dual of a generalized m-Kropina space was introduced in [13]. A natural question arises: what is the  $\mathcal{L}$ -dual of a generalized Matsumoto space. In the present paper this is the question we are going to answer.

### 2. The Legendre Transformation

Let  $F^n = (M, F)$  be an n-dimensional Finsler space. The fundamental function  $F(x, y)$  is called an  $(\alpha, \beta)$ -metric if  $F$  is homogeneous of  $\alpha$  and  $\beta$  of degree one, where  $\alpha^2 = a(y, y) = a_{ij}y^i y^j$ ,  $y = y^i \frac{\partial}{\partial x^i}|_x \in T_x M$  is Riemannian metric, and  $\beta = b_i(x)y^i$  is a 1-form on  $\widetilde{TM} = TM - \{0\}$ .

A Finsler space with fundamental function:

$$F(x, y) = \alpha(x, y) + \beta(x, y) \tag{1}$$

is called a Randers space, where as the space having the fundamental function:

$$F(x, y) = \frac{\alpha^2(x, y)}{\beta(x, y)} \tag{2}$$

is called a Kropina space [2, 8].

A Finsler space with fundamental function:

$$F(x, y) = \frac{\alpha^2(x, y)}{\alpha(x, y) - \beta(x, y)} \tag{3}$$

is called a Matsumoto space.

The generalized metrics:

$$F(x, y) = \frac{\alpha^{m+1}(x, y)}{\beta^m(x, y)}, \quad (m \neq 0, -1) \tag{4}$$

and

$$F(x, y) = \frac{\alpha^{m+1}(x, y)}{(\alpha(x, y) - \beta(x, y))^m}, \quad (m \neq 0, -1) \tag{5}$$

are called generalized Kropina and Matsumoto metrics respectively and the spaces equipped with the corresponding metrics are called generalized m-Kropina and generalized Matsumoto space respectively.

**Definition 1.** (see [1]) A Cartan space  $C^n$  is a pair  $(M, H)$  which consists of a real  $n$ -dimensional  $C^\infty$ -manifold  $M$  and a Hamiltonian function  $H : T^xM \setminus \{0\} \rightarrow \mathfrak{R}$ , where  $(T^mM, \pi^x, M)$  is the cotangent bundle of  $M$  such that  $H(x, p)$  has the following properties:

1. It is two homogeneous with respect to  $p_i$  ( $i, j, k, \dots = 1, 2, \dots, n$ ).
2. The tensor field  $g^{ij}(x, p) = \frac{1}{2} \frac{\partial^2 H}{\partial p_i \partial p_j}$  is nondegenerate.

Let  $C^n = (M, K)$  be an  $n$ -dimensional Cartan space having the fundamental function  $K(x, p)$ . We also consider Cartan spaces having the metric function of the following forms (see [4]):

$$K(x, p) = \sqrt{a^{ij}(x)p_i p_j + b^i(x)p_i} \tag{6}$$

or

$$K(x, p) = \frac{a^{ij}p_i p_j}{b^i(x)p_i} \tag{7}$$

or

$$K(x, p) = \frac{a^{ij}p_i p_j}{\sqrt{a^{ij}(x)p_i p_j - b^i(x)p_i}} \tag{8}$$

with  $a_{ij}a^{jk} = \delta_i^k$  and we will again call these spaces Randers, Kropina and Matsumoto spaces respectively on the cotangent bundle  $T^*M$ .

**Definition 2.** (see [1]) A regular Lagrangin (Hamiltonian) on a domain  $D \subset TM (D^* \subset T^*M)$  is a real smooth function  $L : D \rightarrow \mathfrak{R} (H : D^* \rightarrow \mathfrak{R})$  such that the matrix with entries

$$g_{ab}(x, y) = \dot{\partial}_a \dot{\partial}_b L(x, y) \quad \left( g^{*ab}(x, y) = \dot{\partial}^a \dot{\partial}^b H(x, y) \right)$$

is everywhere nondegenerate on  $D(D^*)$ , see [4].

A Lagrange (Hamilton) manifold is a pair  $(M, L) ((M, H))$ , where  $M$  is a smooth manifold and  $L(H)$  is regular Lagrangian (Hamiltonian) on  $D(D^*)$ .

**Example 2.3.** (a) Every Finsler space  $F^n = (M, F(x, y))$  is a Lagrange manifold with  $L = \frac{1}{2}F^2$ .

(b) Every Cartan space  $C^n = (M, \bar{F}(x, p))$  is a Hamilton manifold with  $H = \frac{1}{2}\bar{F}^2$ . (Here  $\bar{F}$  is positively 1-homogeneous in  $p_i$  and the tensor  $\bar{g}^{ab} = \frac{1}{2}\dot{\partial}_a \dot{\partial}_b \bar{F}^2$  is nondegenerate).

(c)  $(M, L)$  and  $(M, H)$  with

$$L(x, y) = \frac{1}{2}a_{ij}(x)y^i y^j + b_i(x)y^i + c(x)$$

and

$$H(x, y) = \frac{1}{2}\bar{a}^{ij}(x)p_i p_j + \bar{b}^i(x)p_i + \bar{c}(x)$$

are Lagrange and Hamilton manifolds respectively. (Here  $a_{ij}(x)$ ,  $\bar{a}^{ij}$  are the fundamental tensors of Riemannian manifold,  $b_i$  are components of covector field,  $\bar{b}^i$  are the components of a vector fields,  $C$  and  $\bar{C}$  are the smooth functions on  $M$ ).

Let  $L(x, y)$  be a regular Lagrangian on a domain  $D \subset TM$  and let  $H(x, p)$  be a regular Hamiltonian on a domain  $D^* \subset T^*M$ . If  $L$  is a differential map, we can consider the fiber derivative of  $L$ , locally given by the diffeomorphism between the open set  $U \subset D$  and  $U^* \subset D^*$  (see [10, 11]):

$$\varphi(x, y) = (x^i, \dot{\partial}_a L(x, y)) \quad (9)$$

which is called the Legendre transformation. We can define, in this case, the function  $H : U^* \mapsto R$ :

$$H(x, y) = p_a y^a - L(x, y). \quad (10)$$

where  $y = y^a$  is the solution of the equation:

$$p_a = \dot{\partial}_a L(x, y). \quad (11)$$

In the same manner, the fiber derivative of  $H$  is locally given by:

$$\varphi(x, p) = (x^i, \dot{\partial}^a H(x, p)) \quad (12)$$

where  $\varphi$  is a diffeomorphism between the same open sets  $U^* \subset D^*$  and  $U \subset D$  and we can consider the function  $L : U \mapsto R$ :

$$L(x, y) = p_a y^a - H(x, p). \quad (13)$$

where  $p = (p_a)$  is the solution of the equations:

$$y^a = \dot{\partial}^a H(x, p). \quad (14)$$

The Hamiltonian given by (10) is the Legendre transformation of the Lagrangian  $L$  and the Lagrangian given by (13) is called the Legendre transformation of the Hamiltonian  $H$ .

If  $(M, K)$  is a Cartan space, then  $(M, H)$  is a Hamiltonian manifold (see [10, 11]), where  $H(x, p) = \frac{1}{2}K^2(x, p)$  is 2-homogenous on a domain of  $T^*M$ . So we get the following transformation of  $H$  on  $U$  :

$$L(x, y) = p_a y^a - H(x, p) = H(x, p). \tag{15}$$

**Theorem 3.** *The scalar field  $L(x, y)$  defined by (2.15) is a positively 2-homogeneous regular Lagrangian on  $U$ .*

Therefore, we get Finsler metric  $F$  of  $U$ , so that

$$L = \frac{1}{2}F^2 \tag{16}$$

Thus for the Cartan space  $(M, K)$  we always can locally associate a Finsler space  $(M, F)$  which will be called the  $\mathcal{L}$ -dual of a Cartan space  $(M, C|_{U^*})$  vice versa, we can associate, locally, a Cartan space to every Finsler space which will be called the  $\mathcal{L}$ -dual of a Finsler space  $(M, F|_U)$ .

### 3. The $\mathcal{L}$ -Dual of a Generalized Matsumoto Space

In this case, we have  $F = \frac{\alpha^{m+1}}{(\alpha-\beta)^m}(m \neq 0, -1)$ .

We put  $\alpha^2 = y_i y^i$ ,  $\beta = b_i y^i$ ,  $\beta^* = b^i p_i$ ,  $p^i = a^{ij} p_j$ ,  $\alpha^{*2} = p_i p^i = a^{ij} p_i p_j$ .

We have :

$$p_i = \frac{1}{2} \dot{\partial}_i F^2 = F \left[ \frac{(m+1)F y_i}{\alpha^2} - \frac{mF}{\alpha(\alpha-\beta)}(y_i - b_i \alpha) \right] \tag{17}$$

Contracting (17) by  $p^i$  and  $b^i$  respectively, we get

$$\alpha^{*2} = F \left[ \frac{(m+1)F^3}{\alpha^2} - \frac{mF}{\alpha(\alpha-\beta)}(F^2 - \alpha\beta^*) \right] \tag{18}$$

$$\beta^* = F \left[ \frac{(m+1)F\beta}{\alpha^2} - \frac{mF}{\alpha(\alpha-\beta)}(\beta - b^2\alpha) \right]. \tag{19}$$

In [12], for a Finsler  $(\alpha, \beta)$ -metric  $F$  on a manifold  $M$ , there is a positive function  $\phi = \phi(s)$  on  $(-b_0; b_0)$  with  $\phi(0) = 1$  and  $F = \alpha\phi(s)$ ,  $s = \frac{\beta}{\alpha}$ , where  $\alpha = \sqrt{a_{ij}y^i y^j}$  and  $\beta = b_i y^i$  with  $\|\beta\|_x < b_0, \forall x \in M$ .  $\phi$  satisfies  $\phi(s) - s\phi'(s) + (b^2 - s^2)\phi''(s) > 0, (|s| \leq b_0)$ .

A generalized Matsumoto metric is a special  $(\alpha, \beta)$ -metric with  $\phi = \frac{1}{(1-s)^m}$ . Using Shen's notation [14]  $s = \frac{\beta}{\alpha}$ , (18) and (19) become

$$\alpha^{*2} = F \left[ \frac{(m+1)F}{(1-s)^{2m}} - \frac{m}{(1-s)^{2m+1}} + \frac{m\beta^*}{(1-s)^{m+1}} \right] \tag{20}$$

and

$$\beta^* = F \left[ \frac{(m+1)s}{(1-s)^m} - \frac{m}{(1-s)^{m+1}}(s - b^2) \right]. \tag{21}$$

Putting  $(1-s)^m = t$ , so that  $s = 1 - t^{\frac{1}{m}}$  in (20) and (21), we get

$$\alpha^{*2} = (m+1) \frac{F^2}{t^2} - \frac{mF^2}{t^{\frac{2m+1}{m}}} + \frac{m\beta^*F}{t^{\frac{m+1}{m}}} \tag{22}$$

and

$$\beta^* = F \left[ \frac{(m+1) \left(1 - t^{\frac{1}{m}}\right)}{t} - \frac{m}{t^{\frac{m+1}{m}}} \left(1 - t^{\frac{1}{m}} - b^2\right) \right] \tag{23}$$

Now, we have following two cases:

Case I. For  $b^2 = 1$ , from (23), we get

$$F = \frac{\beta^*t}{(2m+1) - (m+1)t^{\frac{1}{m}}} \tag{24}$$

From (22) and (24), we get

$$(m+1)^2s^3 + (m^2 - 1)s^2 + \{-(m^2 + 2m) + (m^2 - 1)K^2\}s - \{m^2 - (m^2 + 1)K^2\} = 0 \tag{25}$$

where  $K = \frac{\beta^*}{\alpha^*}$

Solving (25) for  $s$ , using maple, we get

$$s = \frac{1}{3} \frac{1}{m+1} \left[ a_1 - a_2K^2 + 3\sqrt{3}K \sqrt{a_3K^4 - a_4K^2 - a_1(m+1)} \right]^{\frac{1}{3}} - \frac{1}{3(m+1)} \frac{(a_5K^2 - a_6)}{\left[ a_1 - a_2K^2 + 3\sqrt{3}K \sqrt{a_3K^4 - a_4K^2 - a_1(m+1)} \right]^{\frac{1}{3}}}$$

$$\begin{aligned}
 & -\frac{1}{3} \left( \frac{m-1}{m+1} \right) \\
 & = \frac{1}{3} \frac{1}{m+1} \left\{ \sqrt[3]{K_1 + (m+1)K_2} - \frac{K_3}{\sqrt[3]{K_1 + (m+1)K_2}} - (m-1) \right\}
 \end{aligned}$$

where

$$\begin{aligned}
 K_1 &= a_1 - a_2 K^2, & K_2 &= 3\sqrt{3}K \sqrt{a_3 K^4 - a_4 K^2 - a_1}, & K_3 &= a_5 K^2 - a_6, \\
 a_1 &= 8m^3 + 12m^2 + 6m + 1, & a_2 &= 9(m^3 + 2m^2 + 2m - 1), \\
 a_3 &= m^4 - 2m^3 + 2m - 1, \\
 a_4 &= m^4 - 10m^3 - 12m^2 - 4m - 2, & a_5 &= 3m^2 - 3, & a_6 &= 4m^2 + 4m + 1.
 \end{aligned}$$

From (24), we get

$$F = \frac{3\beta^* \left[ \frac{2(2m+1) - \sqrt[3]{K_1 + (m+1)K_2} + \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}}}{3(m+1)} \right]^m}{\sqrt[3]{K_1 + (m+1)K_2} - \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}} + (2m+1)}. \tag{26}$$

From (15) and (16), we get

$$H(x, p) = \frac{\frac{9}{2} \beta^{*2} \left[ \frac{2(2m+1) - \sqrt[3]{K_1 + (m+1)K_2} + \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}}}{3(m+1)} \right]^{2m}}{\left[ \sqrt[3]{K_1 + (m+1)K_2} - \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}} + (2m+1) \right]^2}. \tag{27}$$

Hence we have the following theorem :

**Theorem 4.** *Let  $(M, F)$  be a generalized Matsumoto space and  $b = (a_{ij} b^i b^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then if  $b^2 = 1$ , the  $\mathcal{L}$ -dual of  $(M, F)$  is the space having the fundamenta function:*

$$H(x, p) = \frac{\frac{9}{2} \beta^{*2} \left[ \frac{2(2m+1) - \sqrt[3]{K_1 + (m+1)K_2} + \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}}}{3(m+1)} \right]^{2m}}{\left[ \sqrt[3]{K_1 + (m+1)K_2} - \frac{(a_5 K^2 - a_6)}{\sqrt[3]{K_1 + (m+1)K_2}} + (2m+1) \right]^2}. \tag{28}$$

where

$$K_1 = a_1 - a_2K^2, \quad K_2 = 3\sqrt{3}K\sqrt{a_3K^4 - a_4K^2 - a_1},$$

$$K = \frac{\beta^*}{\alpha^*}, \quad \beta^* = b^i p_i, \quad \alpha^{*2} = a^{ij} p_i p_j,$$

and

$$a_1 = 8m^3 + 12m^2 + 6m + 1, \quad a_2 = 9(m^3 + 2m^2 + 2m - 1),$$

$$a_3 = m^4 - 2m^3 + 2m - 1,$$

$$a_4 = m^4 - 10m^3 - 12m^2 - 4m - 2, \quad a_5 = 3m^2 - 3, \quad a_6 = 4m^2 + 4m + 1.$$

Case 2. For  $b^2 \neq 1$ , from (23), we have

$$F = \frac{\beta^* t^{\frac{m+1}{m}}}{-(m+1)t^{\frac{2}{m}} + (2m+1)t^{\frac{1}{m}} - m(1-b^2)}. \tag{29}$$

Using (29) in (22), we get

$$s^4 + 2m_1s^3 + (m_2 + m_3K^2)s^2 + 2(m_4 + m_5K^2)s + (m_6 + m_7K^2) = 0, \tag{30}$$

where

$$m_1 = -\frac{1}{m+1}, \quad m_2 = \frac{-4m^2 + 2m^2b^2 + 2mb^2 - 4m + 1}{(m+1)^2}, \quad m_3 = \frac{m-1}{m+1},$$

$$m_4 = \frac{8m^2 + 8m - 8m^2b^2 - 6mb^2}{(m+1)^2}, \quad m_5 = \frac{2}{(m+1)^2},$$

$$m_6 = \frac{-4m^2 - 4m + 4m^2b^2 + 4mb^2 + m^2b^4}{(m+1)^2}, \quad m_7 = -\frac{(1+m^2b^2)}{(m+1)^2}.$$

Using Farrai method for solving equation (30), we get

$$s = \frac{-(m_1 + \lambda) + \sqrt{(m_1 + \lambda)^2 - 4v + 4\mu}}{2},$$

where

$$\lambda = \sqrt{\frac{m_{14}^2 - 36m_{13} - 2m_8m_{14} + 3m_1^2}{3m_{14}}}, \quad \nu = \left( \frac{m_{14}^2 - 36m_{13} + m_8m_{14}}{6m_{14}} \right),$$

$$\mu = \frac{\sqrt{(m_{14}^2 - 36m_{13} + m_8m_{14})^2 - 36m_{10}m_{14}^2}}{6m_{14}}.$$



Substituting the value of  $s$  in (29), we get

$$F = \frac{\beta^* \left( 1 - \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^{m+1} \right)}{m(2 - b^2) + \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right) - (m + 1) \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^2} \tag{31}$$

and finally  $H(x, p) = \frac{1}{2}F^2$  gives the required  $\mathcal{L}$ -dual

$$H(x, p) = \frac{1}{2} \times \frac{\beta^{*2} \left( 1 - \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^{2(m+1)} \right)}{\left[ m(2 - b^2) + \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right) - (m + 1) \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^2 \right]^2} \tag{32}$$

Hence we have the following theorem:

**Theorem 5.** *Let  $(M, F)$  be a generalized Matsumoto space and  $b = (a_{ij}b^ib^j)^{\frac{1}{2}}$  the Riemannian length of  $b_i$ . Then if  $b^2 \neq 1$ , the  $\mathcal{L}$ -dual of  $(M, F)$  is the space having the fundamenta function:*

$$H(x, p) = \frac{1}{2} \times \frac{\beta^{*2} \left( 1 - \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^{2(m+1)} \right)}{\left[ m(2 - b^2) + \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right) - (m + 1) \left( \frac{-(m_1+\lambda) \pm \sqrt{(m_1+\lambda)^2 - 4v + 4\mu}}{2} \right)^2 \right]^2} \tag{33}$$

where

$$K = \frac{\beta^*}{\alpha^*}, \quad \beta^* = b^i p_i, \quad \alpha^{*2} = a^{ij} p_i p_j,$$

$$\lambda = \sqrt{\frac{m_{14}^2 - 36m_{13} - 2m_8 m_{14} + 3m_1^2}{3m_{14}}}, \quad \nu = \left( \frac{m_{14}^2 - 36m_{13} + m_8 m_{14}}{6m_{14}} \right),$$

$$\mu = \frac{\sqrt{(m_{14}^2 - 36m_{13} + m_8 m_{14})^2 - 36m_{10} m_{14}^2}}{6m_{14}}, \quad m_1 = \frac{3}{m - 1}.$$

$$\begin{aligned}
m_2 &= \frac{-4m^2 + 2m^2b^2 + 2mb^2 - 4m + 1}{(m+1)^2}, & m_3 &= \frac{m-1}{m+1}, \\
m_4 &= \frac{8m^2 + 8m - 8m^2b^2 - 6mb^2}{(m+1)^2}, & m_5 &= \frac{2}{(m+1)^2}, \\
m_6 &= \frac{-4m^2 - 4m + 4m^2b^2 + 4mb^2 + m^2b^4}{(m+1)^2}, & m_7 &= -\frac{(1+m^2b^2)}{(m+1)^2}. \\
m_8 &= m_2 + m_3K^2, & m_9 &= m_4 + m_5K^2, & m_{10} &= m_6 + m_7K^2, \\
m_{11} &= -18m_8m_1m_9 - 36m_8m_{10} + 54m_1^2m_{10} + 54m_9^2 + m_8^3, \\
m_{12} &= 60m_1m_9m_{10}m_8^2 - 54m_8m_1^3m_9m_{10} + 24m_{10}^2m_8^2 - 3m_{10}m_8^4 + 81m_1^4m_{10}^2 \\
&\quad + 3m_9^2m_8^3 + 144m_1m_9m_{10}^2 + 18m_1^2m_9^2m_{10} - 3m_1^2m_9^2m_8^2 - 54m_8m_1m_9^3 \\
&\quad - 108m_8m_{10}^2m_1^2 - 108m_8m_{10}m_9^2 + 3m_1^2m_{10}m_8^3 - 48m_{10}^3 + 81m_9^4 \\
&\quad + 48m_1^3m_9^3, \\
m_{13} &= \frac{1}{3}m_1m_9 - \frac{1}{3}m_{10} - \frac{1}{36}m_8^2, & m_{14} &= \sqrt[3]{m_{11} + 6\sqrt{m_{12}}}.
\end{aligned}$$

### References

- [1] P.L. Antonelli, *Hand Book of Finsler Geometry*, Kluwer Acad. Publ., FTPH, **58** (1993).
- [2] D. Bao, S.S. Chern, Z. Shen, *An Introduction to Riemann-Finsler Geometry*, Graduate Texts in Mathematics, **200**, Springer-Verlag (2000).
- [3] D. Bao, C. Robles, Z. Shen, Zermelo navigation on Riemann manifolds, *J. Diff. Geom.*, **66** (2004), 377-435.
- [4] D. Hrimiuc, H. Shimada, On the  $\mathcal{L}$ -duality between Lagrange and Hamilton manifolds, *Nonlinear World*, **3** (1996), 613-641.
- [5] D. Hrimiuc, H. Shimada, On some special problems concerning the  $\mathcal{L}$ -duality between Finsler and Cartan spaces, *Tensor N. S.*, **58** (1997), 48-61.
- [6] I.M. Masca, S.V. Sabau, H. Shimada, The  $\mathcal{L}$ -dual of an  $(\alpha, \beta)$  Finsler space of order two, *Balkan Journal of Geometry and Its Application*, **12**, No. 1 (2007), 85-99.
- [7] I.M. Masca, S.V. Sabau, H. Shimada, The  $\mathcal{L}$ -dual of a Matsumoto space, *Publ. Math. Debrecen*, Tomus 72. Fasc. 1-2 (2008), 227-242.

- [8] M. Matsumoto, *Foundations of Finsler Geometry and Special Finsler Spaces*, Kaisheisha Press, Saikawa, Otsu, **520**, Japan (1986).
- [9] R. Miron, Cartan spaces in a new point of view by considering them as duals of Finsler spaces, *Tensor N.S.*, **46** (1987), 330-334.
- [10] R. Miron, *The Geometry of Higher-order Hamilton Spaces: Applications to Hamiltonian Mechanics*, Kluwer. Acad. Publ., FTPH, **132** (2003).
- [11] R. Miron, D. Hrimiuc, H. Shimada, S.V. Sabau, *The Geometry of Hamilton and Lagrange Spaces*, Kluwer Acad. Publ., FTPH., **118** (2001).
- [12] S.V. Sabau, H. Shimada, Classes of Finsler spaces with  $(\alpha, \beta)$ -metrics, *Rep.on Math. Phys.*, **47** (2001), 31-48.
- [13] G. Shanker, The  $\mathcal{L}$ -dual of a Generalized m-Kropina space, *J.T.S.*, **5** (2011), 15-25.
- [14] Z. Shen, *On Landsberg  $(\alpha, \beta)$ -Metrics*, <http://www.math.iupiu.edu/~zshen/Research/papers> (2006).

